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GUIDED READING DEVELOPMENT
|Stamlardized Test Practice

Read the passage below and answer the questions that follow.
Observations of the natural sorld have led to countless hypotheses and theories
about the nature of reality. Scientists use theories to create a model of how the
‘natural world works. For example, Newton's observation of a falling apple led
him o develop a hypothesis about why objects fal o the Earth, Newton's
Iypothesis led to the law of universal gravitation, which describes how gravity
affects objects as small s an egg and as large as the sun

Because scientists are concemed with figuring out how nature works, many
scientists might be content to collect, organize, and publish an encyclopedia of
scientific laws and theories. However, some people think that scientific discover-
s have merit not becanse they tell us about the world, but because they can be
used to make the world easier for us to live in. When science is used to solve
human problems, it is called technology. The goal of almost every technological
enterprise is to improve the human condition by making lfe easier, safer, and
happier. Technologists are not so interested i the fact that objects fall from posi-
tions of higher to lower gravitational potential energy, but they want to know
what we can do with this information. In this example, one could use knowledge
about gravity to convert alling water into electrical energy—a valuable commod:
ity in our world

In the space provided, write the letter of the term or phrase that best completes
each statement or best answers each question.

1. Science is to technology as— 3. The purpose of this passage
A refaction is to eyelasses isto—
B explosions are to dyna A persuade readers to visit
mite a science museum
€ microwave ovens are to B describe the discovery of
Kitchens the law of gravity
D adooris to an opening € define the nature of sci

D compare and contrast
science and technology

2.The word merit in this pas-
sage means—

Aworih
B faults 4.The word enterprise in this
C imperfections passage means—
D association A formula

B theory

C history

D project
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